
 

 Fast Mover Tools 
T: 01582 661993 F: 01582 667100 E: sales@fastmovertoolsuk.com 

FMT1750 
Classic Bumpermate 

PARTS DIAGRAM 

FMT1650/3 
Top Piece 

FMT1254/4 
Swivel Bar 

FMT132 
Thumb Screw 

FMT256 
Bar Lock Holder 

FMT1450/3 
Base Leg 

FMT1450/4 
Base 

FMT125/2 
Top Piece 

FMT1650/5 
Bumper Clamp 

FMT1650/1 
Clamp Holder 

FMT133   
FMT133Tube  
M12 x 80 
M12 Spring Washer 
M12 Large Washer 

FMT125/1 
Main Upright 



 

 Fast Mover Tools 
T: 01582 661993 F: 01582 667100 E: sales@fastmovertoolsuk.com 

FMT1750 
Classic Bumpermate 

PARTS LIST 

FMT1450/4 1 Base 
FMT125/1 1 Main Upright 
FMT125/2 1 Top Piece 
FMT1450/3 2 Base Leg 
FMT1650/5 4 Bumper Clamp 
FMT1650/1 2 Clamp Holder 
FMT133  2 200mm Wheel 
FMT256  4  Bar Lock Holder 
FMT1650/3 2 Top Piece 
PARTS BAG 1  
Containing -  1 FMT1254/3  Steel Pin 
    1 FMT1254/4  Swivel Bar 
    2 M12SW   M12 Spring Washer 
    4 M10X40   M10 x 40 Set Screw 
    1 FMT131/1  T-piece 
    1 FMT131/2  Eyebolt 
    2 M12X80   M12 x 80 Set Screw 
    8 M10WS   M10 Washer 
    4 M10N   M10 Nyloc 
    9 FMT132   Finger Screw 



 

 Fast Mover Tools 
T: 01582 661993 F: 01582 667100 E: sales@fastmovertoolsuk.com 

FMT1750 
Classic Bumpermate 

PARTS LIST 

FMT131/1 
FMT131 T piece 

FMT1254/4 
Swivel Bar 

FMT125/2 
Top Piece 

FMT125/1 
Main Upright 

M12 Washer 


